IYAN

%72IEI;FKEHFI_TEP$ #;,‘1[2\ =

A
(1) AERe
(B F)
& fir SR I
N
e e
%5 3 ir
(2) EAKRE
(82 +)
e fr || ks | B A 1’ T4 s
we | 2] 3 g 44. 65
2 e | 1| 3 ERE  BEK 37. 90
(3) AR
(8 F)
(12707 | IS o A B S = e = T4 5
1| me | 2| 3 InEg B FR 10. 70
| 2|l me | 1] 3 g BEK 9. 30
H
el 4 | FE| AR 1’ T4 5 A
1| me | 2] 3 g 11.70
Bl sme | 1| 3 g BEK 8.90
A
E
ieprf| 4 | Fem| AR ®T4 5 A
1| me | 2| 3 IRE  B5FR 11.60
el 2l somm | 1] 3 g BEX 11. 00
E
[ T E A = T4 s
1| me | 2] 3 NRE  BFR 10. 65
gel ol mmm | 1| 3 g BEK 8. 70
¥

RERE FMSFEE FKHTT P AR BB R =

: R5.6.18(H)

25 K TALR PRI B A

(& F)
JIE  fir FRA 5
W FRH TSR HEeRgg | 70. 15
e e
% 347
CRIZERE 5 4Rile 2 3 [ H OER)
(& F)
I || R [ AR ETA 55
1 | re= | 9 | 3 | JpE g 45. 30
2 o |10 | 3| IEE & | 42.90
3 [ wmmm | 7| 3| WA EFE 41. 90
4 o 8 | 1 | KK EH] 38. 10
5 R 3 | 2 | JfmpE o=Eme | 28.10
6 7 6 | 1| g W 25. 90
(& F)
k|| e | | A EFH 5
1| Fe=| 9 | 3 | JpE 4d3g 12. 25
ol smm | 7| 3| WA EHFE 11. 40
2 3 8 | 1 | KK EH] 11. 15
Slal e [0 3| i & | 1040
5 6 | 1 | g W 9. 80
6 5 | 2 | KK RAE 9. 65
| s | | AR EFA 5
1| tw 10| 3 | TiE 10. 60
fé ol Fae= | 9 | 3| I w3 9. 80
:—Q 3| mms | 7| 3| WA EBEE 8. 30
74 ® 8 | 1 | KA EH 6. 75
* 5 = 3 | 2 | g =Eme 3. 50
6 = 1| 3 | &I EkE 3. 00
| 4 | | AR BE’FH4 5 S
1| Faee | 9 | 3 | g f23g 11.75
ol sms | 7| 3| WA EF 10. 90
E 3| e | 10| 3 | TAEE & | 10.70
Sl 8 | 1 | KK EH] 9.90
5 ® 3 | 2 | JnEE =Eme 8. 90
6 = 4 | 2 | Ok X 7. 40
|| A | | AR EFH4 5
1| Fe=| 9 | 3 | JpE 4d3E 11. 50
ol smm | 7| 3| WA EFE 11. 30
Wlsl +m [ 10| 3 | LA & | 11.20
o Y 8 | 1 | KK EH] 10. 30
50 = 4 | 2 | Ok X 6. 75
6 3 | 2 | g =Eme 6. 70




